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F =15 xH, My = 28.5 kHwm, My = 35.5 kHwm,
p=1xH/m, cosa =0,8.
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F =15 xH, M; = 32 xHwm, My = 35 xHwm,
p=2xH/m, cosa=0,8.
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F =15 «H, M; = 67.5 kHum, Ms = 165 xkHwm,
p =3 kH/m, cosa =0,8.
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F=15«H, M; =0 xkHwm, Ms = 16 xHwm,
p=2xH/m, cosa=0,8.
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F =15 xH, M; = 41 xkHwm, My = 93 xHwm,
p=2xH/m, cosa =0,8.
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F =15 xH, M; = 233.5 kHm, My = 578.5 xkHu,
p =3 kH/m, cosa =0,8.
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F=5x«H, M; =111 xHwm, My = 2 xHu,
p=2xH/m, cosa =0,8.
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F =5«H, M; =202 xHwm, My = 354 xHuw,
p=2xH/m, cosa=0,8.
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F =15 «H, M; = 310 xHwm, My = 347.5 xHuw,
p =3 kH/m, cosa =0,8.
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F =10 xH, M; = 42 xHwm, My = 279 xHuw,
p=2xH/m, cosa=0,8.
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F =10 xH, M; = 41.5 xHwm, My = 191.5 xHwm,
p=1xH/m, cosa =0,8.
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F =15 xH, M; = 215 xHwm, M = 538.5 xHwm,
p=3&H/m, cosa =0,8.
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F =5«H, M; =88 xHwm, My = 37.5 kHwm,
p=1xH/m, cosa =0,8.
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F =10 xH, M; = 28.5 xHu, M, = 23.5 xHu,
p=1xH/m, cosa=0,8.
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F=5«H, M; =101 xHm, My = 304 xHu,
p=2xH/m, cosa =0,8.
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F =5«H, M; =68 xHwm, My = 300 kHwm,
p=2xH/m, cosa=0,8.
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F =15 «H, M; =65 kHwm, My = 22.5 xHw,
p =3 kH/m, cosa =0,8.
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F =15«H, M; =5 xHwm, My = 39.5 kHwm,
p=1xH/m, cosa=0,8.
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F =10 xH, M; = 88 xkHwm, My = 93 xHwm,
p=2xH/m, cosa =0,8.
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F =15 H, M; = 18 xHwm, My = 262 xHwm,
p=2xH/m, cosa =0,8.
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F=5«H, M; =15.5 xHwm, My = 21 xHwm,
p=1xH/m, cosa =0,8.
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F =5«H, M; =184 xHwm, My = 358 xkHw,
p=2xH/m, cosa=0,8.
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F =10 xH, M; = 118.5 kHwm, My = 12 xHwm,
p =3 kH/m, cosa =0,8.
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F =10 xH, M; = 230 kHwm, My = 103 xHwm,
p =3 xkH/m, cosa =0,8.
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F =15 «H, M; =78 xHwm, My = 90 kHwm,
p =3 kH/m, cosa =0,8.
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F =10 xH, M; = 23.5 kHwm, My = 125 kHwm,
p=1xH/m, cosa=0,8.
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F=15«H, M; =79 xkHwm, My = 223 xHwm,
p=2xH/m, cosa =0,8.
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F =10 xH, M; = 98 xHwm, My = 240 xHwm,
p=2xH/m, cosa =0,8.
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F =10 xH, M; = 15 xHw™m, M, = 43 xHu,
p=2xH/m, cosa =0,8.
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F =5«H, M; =113 xHwm, My = 166.5 kHwm,
p=1xH/m, cosa=0,8.
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Ta>kenasg coctaBHass paMa M3 ABYX HacTel

13.02.2015




Ne Xa Ya XB | YB ZMC:O ZMBIO

1 7 0 —19 | 18 | —=6X4 —5Y4+42=0, | —3X4 —6Y4+21=0

2 —4 15 16 32 | 5X4+4Y4 —40=0, 10X4+4Y4 —20=0

3 |3 —2 —15 | 71 | 4X4 —3Y4 —18=0, Xa—3Y4—-9=0

4 10 4 —12 |37 | =3X4—4Y,+16=0, | X4 —4Y,4+16=0

5 | —11 ]2 23 41 | —4XA+5Y4—54=0,| X4+8Y4—27=0

6 —26 | 10 38 62 | 4X4+4Y4+64 =0, TXA+15Y,4+32=0

7 1 4 —5 |41 | 3X4—4Y4+13=0, TXA—5Y4+13=0

8 -9 -3 13 56 | 6X4 +4Y 4 +66 =0, 3X44+13Y44+66=0

9 —22 | -6 | 34 8l | 4XA+4Y4+112=0, | X4+ 13Y4+56 =0

10 | =9 —4 17 52 | —=3X4+5Y,—7=0, —TXa+14Y, —-7=0

111 -9 |4 17 20 | —8X4+4+5Y4—92=0, | -4X4+14Y4—-92=0

12 | =9 —4 | 21 79 | 5 X4 +5Y 4+ 65 =0, Xa+14Y,4 +65=0

13 | —1 —4 |5 27 | 3X4 +5Y4+23 =0, XAa+6Y44+23=0

14| -7 |12 15 8 4X4+5Y4—32=0, 8X4+6Y4—16=0

15| =9 —4 13 53 | —3X4+4Y,—11=0, | —=7TX4+13Y4,—11=0

16 | -8 |3 12 44 | 4X 4 +4Y4+20=0, TXA+12Y4+20=0

17 | -1 —4 13 70 | —4X4+3YA+8=0, —8X4+4Y4+8=0

18 | —9 —4 | 21 20 | —4Xa4+3Y4—24=0,| -8X4+12Y4—24=0

19 | —1 -5 19 51 | 4X4 +4Y 4 +24 =0, Xa+5Y4+4+24=0

20 | 23 —12 | =35 |55 | —4X4 —3Y4+56=0, | —8X4 —13Y4+28=0

21 | 7 13 —11 1|7 3X4—3Y4+18 =0, 8X4—5Y4+9=0

22 | -9 —4 13 59 | 8X4 +4Y 4 +88 =0, 4X4+13Y4+88=0

23 | 8 —14 | =16 | 92 | —4X4 —4Y1 —24=0,| —9X4 —6Y,—12=0

24 10 4 —8 |8 | —8X4—4Y4+16=0, | —4X4 —4Y4+16=0

2510 —4 —12 | 76 | 5X4 —3Y4 —12=0, Xa—3Y4—12=0

26 | -8 -5 16 24 | —=3X4+4Y4—4=0, —8X4+12Y4—4=0

27119 11 —31 | 28 | 5X4 —3Y4 —62=0, 8X4—11Y4 —31=0

28 | 8 —4 —16 | 50 | —4X4 —5Y4+12=0, | -8X4—13Y,+12=0

29 | -7 | -9 15 53 | —3X4+3Y4+6=0, —6X4+5Y4+3=0

30| -9 -3 13 26 | 6X4+3Y4+63=0, 3X4+12Y44+63=0
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